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Directions

PART - A

INTELLIGENCE AND REASONING
: (Q.1-4) Select the related word/letters/

number/figure from the given alternatives—

1.

2212 : 6636 :: 1122 : 7

(a) 3366 (b) 2244

(c) 2555 (d) 1133
ZWTQ : OLIF :: VSPM : ?

(a) ZYVT (b) SQOM
(¢) ROLI (d) IFCA
Painter : Brush : : Astronomer : ?

(a) Stethoscope (b) Microscope
(¢) Telescope (d) Periscope
TIME : MITE :: MATE : ?

(a) TEAM (b) META
(c) TAME (d) MEAT

Directions : (Q.5-10) Select the one which is different
from the other three responses.

5.

10.

(a) Brother - Sister (b) Mother - Father

(¢) Uncle - Aunt (d) Husband - Wife
(a) RIQA (b) AIRYS

(c) AAPIN (d) RNAI

(a) Valley: Depth (b) High ' Low
(¢) Good : Bad (d) Black : White
(a) SATURDAY (b) MONDAY
(¢) TUESDAY (d) THURSDAY
(a) NIPL (b) GRIT
(c)~OLPK (d) SEUG

(a) ODFP (b) KBDL

(c) VIIW (d) RFHS

Directions : (Q.11-15) A series is given with one'two term
missing. Choose the correct alternative from the given
ones that will complete the series.

11.

12.

13.

135, 126, 117, 108, 99, ?

(a) 80 (b) 81

(c) 89 (d) 90
CGR GIT KMV ?

(a) LMT (b) OPY
(c) OPX (d) PRZ
ABCDE, BDAEC, DEBCA ?

(a) EACDB (b) ECADB
(c) EDCAB (d) ECDAB

14.

15.

16.

17.

18.

19:

20,

v WA N LWL N

365, 364, 355, 330, 281, ?

(a) 280 (b) 200
(c) 180 (d) 120
4,5,6,9, 8, 13, 10, ?

(a) 14 (b) 15

(c) 11 () 17

Find the wrong number in the following series—
16, 16, 17, 21, 27, 46, 71

{ay 27 (b) 46
(c) 16 (d)y 7T
Daughter 1s to Father as Niece 1s to—
{a) Nephew (b) Cousin
{c) Uncle (d) Mother

How many such pairs of letters are there in the given
word each of which has as many letters between them
in the word as in the English alphabet.

DABBLE
{a) One (b) Two
{c) Three (d) None of these

In“the following diagram the triangle represents
children; the circle represents rural population, the
rectangle school going population and the square boys.

AN

On the basis of above diagram, which number
represents rural boys who are not school going ?

(a) 1 (b) 2

(¢ 1,2 (d) 1,2,8

An equation is solved on the basis of a certain system.
On that basis, find out the correct answer from
amongst the four alternatives for the unsolved
equation.

6 x 9x3 =369
4x6x8=7
Sx6 x4 =456
{a) 486

(c) 684

(b) 846
(d) 864
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qeT - A
WA Ffg Ta AR
FET-(weT 1 ¥ 47%) faw o famwent ¥ wafem

T /LT / 3o /AHIT Fd -
1. 2212:6636:: 1122 : 2

(a) 3366 (b) 2244

(c) 2555 (d) 1133
2. ZWTQ:OLIF:: VSPM: ?

(a) ZYVT (b) SQOM

(c) ROLI (d) IFCA
3. URT o PRl ¢ TTORmE ;2

(a) WRUHIT (b) FEH=el

(c) gLl (d) wfwrm
4. TIME : MITE :: MATE : ?

(a) TEAM (b) META

(¢c) TAME (d) MEAT

THEST- (999 59 10 9=6) W IHAT W 3 T TasRedt
w fa= 2,

5. (a) WE-TEA (b) =T
(c) =T=T-=T= (d) dfg-ett
6. {ay RIQA (b) AIRYS
(c) AAPIN (d) RNAI
7. {a) Valley: Depth (b) High': Low
{c) Good : Bad (d) Black : White
8. (a) SATURDAY (b) MONDAY
{c) TUESDAY (d) THURSDAY
9. (ay NIPL (b) GRIT
{c) OLPK (d) SEUG
10. {a) ODEP (b) KBDL
(c) VITW (d) RFHS

fer-(aeT 11 W 15 %) U&% II@H faar ¢, foe
T3 U2 oW £, fau wn fawmedt § @ oy wet e

FW A STFEA H T HW,
11. 135, 126, 117, 108, 99, 7
(a) 80 (b) 81
(c) 89 (d) 90
12. CGR GJT KMV ?
(a) LMT (b) OPY
(c) OPX (d) PRZ
13. ABCDE,BDAEC, DEBCA?
(a) EACDB (b) ECADB
(¢) EDCAB (d) ECDAB

14.

15.

16.

17.

18.

19.

20,

% d W, N L. |

365, 364, 355, 330, 281, ¢

(a) 280 (b) 200
(¢) 180 (d) 120
4,5, 6,9, 8,13, 10, ?

(a) 14 (b) 15
(c) 11 @ 17

q g2 SeRT H e el 9F e

16, 16, 17, 21, 27, 46, 71

(a) 27 (b) 46

(c) 16 @ 71

T H W fuar § 2 W w6
Pae 7

(a) SIS (b) s

(c) = @

fau U v H farad tw seR-T § o ¥ el
% A I O ¢ o R s A vl | e €
DABBLE

(a) TH (b) =

(¢) g (d) 99 W Ay
forefetfiora for o Foregs =i =1 <eiien &, 9 oo
ST I, ST THE WM Al e au w
EETREI R

AN

I TEfas % SHR 9T Whel el S A% o
o=@l & fh wen gu el fe 22

(a) 1 (b) 2

() 1,2 @ 1,2, 8

T THHIO HT o0 (el & T e % A{ER
o ST 2. o emeR W feu e A fsedi H ©
oA T SATANG SIS H el IR g

6 x 9x3=369

A wlw §=19

5% 6 x4=456

(a) 486 (b) 846
(c) 684 (d) 864

INSTITUTE
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21. If A stands for +, B for — C for x and D for +

then, (3A5B2) C4D6 =

(a) 3 (b) 4

(c) 5 (d) 6
Directions(Q.22-23) : Select the missing number from
the given responses.

4
22. t:>///

3 11 9 15 6

b

144 9801 ?
(a) 2250 (b) 8100
(c) 11036 (d) 1216
23. 12(158)14  12(182)16  14(7) 16
(a) 214 (b) 194
(c) 134 (d) 164

24, From the four logical diagrams, select the one which
best 1llustrates the relationship among:

Vegetables, potatoes, brinjals

©, G & @

(a) (b) @ (@

Directions : (Q. 25-29) Read the information givenbelow

carefully and answer the following questions.
There are five persons A, B, C, D and'E. One of them
1s a professor, one is a manager and another is a
lawyer. C and E are unmarried women, who do not
work, None of the women is a manager or professor.
There is a married couple in which D is the husband.
B is neither the manager rior the lawyer and is a made

friend. of ‘A,
25. Who is the professor ?

(a) A (b) D

(c) B (d) C
26. The three women are —

(a) A,Band E (b) C,Dand B

(¢) B,Aand C (d) A,Cand E
27. Who 1s the manager ?

(a) D (b) A

(c) B (d) E
28. Who is the wife of D ?

(a) C (b) A

(c) E (d) None of the above
29. Who 1s the lawyer ?

(a) A (b) A

(c) D (d) C

-l‘r":;!

Pt

Wi N LW N

30. Following question of five figures marked (a), (b),
(c), (d) and (5) called the Problem Figures followed
by four other Figures marked (a), (b), (¢) and {d)
called the Answer Figures. Select a figure from
amongst the Answer Figures which will continue the
same series as established by the five Problem Figures.

Problem Figures

\/ M | N | AL
COHICOHD DITCICTL
C ’WP LoD Lo
1 2 3 4 5

g Sl

" N/
IS EAEA
SEIST S

Directions : (Q..31-33) Given below are some words in

Column I and their equivalents in Column I1. The letters
in'the codes are not necessarily in the same order as the
letters in the words to which they stands but the same
code stands for the same word. Study the two columns
carefully and answer the gquestions.

Column-I Column-II
SBI sare ga
RED ma pa ni
ASD ga da pa
RIS ma ga re

31. What will be code for word 'SERBIA' ?
{(a) panimasareda (b) gani mapareda
{c) gamanisare da
32. What will be the code for word BIRDS"

{a) pgasare mapa

(d) pa gare manisa

(b) magare sapa
{c) sare ma paga (d) ni ma pagare
33. What will be code for word "DREADED" ?
{a) pa ma ni da pa ma pa
{(b) pasanigapanipa
{c) pamanisapanipa
{d) pa manida panipa
34. 1If all the letters in the word 'SECONDARILY' are

arranged alphabetically, which letter would come in
the centre ?

(a) E
(c) L

(b) I
(d) N
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21, AST a2 + BY oy e— CH of € « AR D 30, W H (a), (b), (c), () T (5) ITH WA sqegfar &1 T

%1 72 2. Then —(3A5B2) C4D6 = T T SEF A8 9W I STRET (a), (b). (0) T (d)
(a) 3 (b) 4 q T 3 SR AR § ¥ Ut afa g
(¢) 5 (d) 6 2 S WY sfadl ° U HH i S W,

ﬁﬁwmﬂzzsﬁ?zs)ﬁmmﬁw}fﬁﬁww - -

@ 7y
a4 Ca D Dt
Y >/ |5 ACACT L
144 9801 1 2 3 4 5
(a) 2250 (b) 8100 .
(¢) 11036 @) 1216 Sl
23, 12(158)14  12(182)16  14(7) 16
(a) 214 (b) 194 C \‘/L (‘vb (‘U(_, (“\‘/"3
(c) 184 (d) 164 Nl ’)_) Q_,F o
24. = g m i F W wmw e os owssl #
weft- wifq wefefa e & Weeil, W], WA FE9T-(Q. 31-33) W I Hp v faw o € qen T
Tt TS WH Feier W &, H2T § Aol oy
@o @) @. ETTH T Y FE U U S AT qUisH S| T2
(a) © (@ g, T 3 9o §, W 9ET 92 S6 I o 99
ﬁ-&w—mzsﬁwmuﬁwmaﬁaﬁmwm 2, SR T W =EydE Uiy weT e W ST
ufew 9T o U T e % YR - g,
AB.C,DT ETH & 99 =Afad o 5T @ UH =1 W11
uﬁﬁm%,@ﬁﬁwwmwaﬂaﬁm%w SBI sa re ga
wfeanfea Afeend €, S %W T2t Had o Afgenst o RED ma pa ni
W HE o T A WhE el 8, U fomifed et ASD ga da pa
2, food DUfa.8. B3 a1 #9512, 7 & sifveean W RIS ma ga re
TE AT TH a7 e 2. 31. 'SERBIA' %] %2 ¥4 Hifeu-
25 WEEE HF e7 (a) ganimasareda (b) ganimapareda
(a) A (b) D (c) gamanisareda (d) pagaremanisa
(c) B (d) € 32. 'BIRDS' &1 %2 TG wHil0-
26. Il'%FITQ' HH g7 (a) gasare mapa {(b) ma ga re sa pa
{(a) A BT E (b)y C,DT B (¢) sare ma paga {d) nima pagare
(¢) B,AT C (d) A, CTME 33. 'DREADED %1 %2 H hifwd-
27. HASE ®A €7 (a) pama nidapa ma pa
{a) D (b) A (b) pasanigapanipa
{(c) B (d)y E (c) pamanisapanipa
28. DI 9= ®E 27 (d) pamam dapanipa
(a) C (b) A 34. ¥R 'SECONDARILY' % ¥t Ter} =i afg a0i-s7gsmn
(¢) E (d) =™ ¥ wE T ¥ =Efem e Se, d 3= % 99§ AR A
20, sfeeRrRT ®E 27 &R T B2
(a) A (b) A (a) E ) I
(c) D (d) C (¢) L {(dy N

% d W Nt . \
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35.

36.

37.

38.

39.

40.

41,

Which word cannot be formed from the letters of the
word 'CARDIOGRAM' 7

(a) AEROGRAM (b) RADIO
(c) DIAGRAM (d) CARGO

In a certain code PENCIL is written as TIRGMP. How
1s BOARD written 1n that code ?

(a) TFSEUH (b) FSEVH
(¢) ESEVH (d) FTEVII
R43%M@KEFS5A3IN18UcDBP6IWT

42.

qQ* Z 43

How many such numbers are there in the above
arrangement, each of which 1s immediately followed
by a letter but not immediately preceded by a symbol?

(a) None (b) Five
(¢) Two (d) Three

If the given letters are rearranged, it forms a word
which belongs to one of the four response options.

AAADMNR
(a) Mountain
(¢) River
Which one set of letters when sequentially placed at

(b) Tree
(d) Monument

the gaps in the given letter series shall completesit:?

H-JH-IJHHI -HH - JH

45,
(a) IHII (b) HIHI
(c) IHIJ (d) HIHI
Which one of the given responses would be a
meaningful order of the following words ? 46.
(a) _Plant (b) Food
(¢) Seed (d) Leaf
(5) Flower
(a) 1,3,4 5 2 (b) 3,2,4 5.1
(c) 3,1,4 5 2 (d) 5,4,3.2.1

47.

A series of figures are given which can be grouped
into classes. Select the group into which the figures
can be classified.

ABLAC
==

48.

44,

v WA N LWL N

(@) 1,3, 4 2,59 67,8
) 1,2, 3 456 7.8,9
(¢) 1,59 2,47 3,68
(@ 3,7 8 1,6,5 42,9

A man starts from a point and walks 2 km towards
north. He turns right and walks 3 km. Then he tumns
left and travels 2 km. What is the direction he is now

facing?
{a) East (b) West
{c) South (d) North

How many triangles are there in the following figure?

(a) 16 (b) 13

(c) 9 (d)y 7

P.is Q's brother R is Q's mother. S is R's father T is
S's mother. He is P relate to T 7

{a) Grand daughter  (b) Great grandson

{¢) Grandson (d) Grand mother

If you are eleventh in a queue staring either end, how
many are there in the queue ?

{a) Eleven (b) Twenty

(c) Twenty one (d) Twenty two

A word given in Capital Letters is followed by four
answer words. Out of these only one cannot be
formed using the letters of the given word. Find out
that word.

ADMINISTRATION

{a) Mind (b) Ration

{c) Minister (d) Station

IfA=2 M=26and Z = 52, then BET =7

{a) 44 (b) 54

{c) 64 (dy 72

Sohan started from point Y and travelled forward 8
km upto point Y, then turned towards right and
travelled 5 km up to point 7 then tumed right and
travelled 7 km up to point A and then turned towards
right and travelled 5 km up to B. What is the distance
between point B and X7

(a) 1km
(¢) 3 km

(b) 2 km
(d) 4 km
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35. HFH T 9= 'CARDIOGRAM T8 % 38R § =&l (a) 1,3,4 2,59 6738
WG‘TW? (b) 1,2,3 4,5,6 7, 8,9
(a) AEROGRAM  (b) RADIO 8 ; 33 ? 2%;’ za gag
(c) DIAGRAM (d) CARGO 2 L . 6, . 2,

36. fweht =z faft § PENCIL %1 TIRGMP % &9 H 2 wiﬁﬁ%ﬁwgﬁwméaﬂtw
feren s 2, ° 39 fafn § BOARD %% ferer el i U, “EEEAT 5. T 5
3 ’ 2 R 3 fopeit. =rerm 21 SHh AR 9F 9 gg S §
(') S iy 3T 2 Fopell, wrer 81 9@ e #E-d R ¥ @ e
a
(¢) ESEVH (@) FTEVH (a) T (by Tfe=m

37. R43%M@KEFS5A3IN18UcDBP6IW?Y () ﬁr&m . MISR
qO* Z 43. Treitpa ompfa o feat B 27
I e § U9 frad o € T o welw #

o TeT HIE WAH T &, ILg S 9% H UH IER
77

(a) WH o = (b) 9=

(c) a @) @

38. = fRw T e F yew Aot w1 Afs gt fwar
S, o 39 oTEeen W UH e 1 FAior e €, S i 16 i 1
feu T fomedi § W wE Uw 2. oY% @ 7
R 44 P QF ME TR, QF O 21 S, R fuan 81 T, S
(8) Mo (b) Ttee FY AT €1 e TARL %5 PH T W N WAH 27
{¢) River (d) Monument @ it )

39. ¥ TR R FERT % Wt I W R ¥ e T g (d)m"‘r
H_H{_m‘jg_ﬁ};—?ﬂ?mwaﬁ@m? 45, ToE o O ¥ 3% S W Al et ufed o seer e
(a) IHII (b) HI TIRET & A 7% qaqwEd Tt o e st 82
(¢) THIJ (d) HIHJ (a) ™NE (b) =™

40. frt =R famedt § o wW-w fawer 99 R W (C)W (d) =
TG hT TSR ShE ERIU? 46. =2 I o UH v f541 T B THH U9 AN IR

T W HAA T VK I A A Wwd 81 IH e
(©) i (d) i Administration
(5) =d (a) Mind (b) Ration
(a) 1,3,4,5 2 (b) 3,2, 4,5, 1 (¢) Minister {d) Station
(c) 3,1,4,5,2 (d) 54,321 47. A% A=2,M=2631 Z=527%, 9l BET =?@m

41. = sERfEl #1 sgwe e @ faaewr ot o (a) 44 (b) 54
TERIT fRA ST W B1 59 79 ! g e (c) 64 (d) 72
SRR T R fHe S W B 4. W fag X & we w3 g feefl. e fag vy

T, e =ifedt #R g STl @ g 2 7%
g AT U @I TR O Sifes oY g 5 T,
! 2 2 4 8 T B % e fag B @R fag X# 9= w58
] foparit 27
E |:| (a) 1 et (by 2 o,
8 7 B ? (c) 3 e, () 4 femehi.
% d W, N t W N
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49.

50,

51,

52

53.

54.

55.

Among five friends A is shorter than B but taller than
E, C is slightly taller than B but D is slightly shorter
than B and shightly taller than A. Who 1s the shortest ?

(a) A (b) E

(¢) C (d D

Among the four answer figures, which figure can be
formed from the cut-pieces given below in the question
figure ?

Question Figure :

O

Answer Figures :

() (b) (© (d)

PART - B
GENERAL AWARENESS

Indian state with the largest electrorate is—
(a) Bihar (b) WP
(¢) Karnataka (d) Rajasthan

Safety fuse wire used in'domestic electrical appliances
is made of metal of low—

(b) Melting point
(d) Conductance

The following particles move with same kinetic energy.
Which of them has maximum momentum ?

(a) Electron (b) Proton
(¢) Deuteron (d) Alpha Particle

A bottle of sodalime 1s grasped by the neck and swung
briskly in a vertical circle. Near which portion of the
bottle do the tubules collect ?

(a) Near the bottom

(b) In the middle of the bottom

(¢) Near the neck

(d) Bubbles remain distributed uniformly

(a) Resistance

(c) Specitie gravity

Which one of the following is called the 'Digestive
bag' in the cell ?

(a) Golgi body

(¢) Ribosome

(b) Mitochondrion

(d) Lysosome
[\

Pt

56.

57.

58.

59.

60,

61

62.

63.

64,

Wi N LW N

Osteocytes are found in—

{a) Bone (b) Blood

{c¢) Cartilage (d) Lymph

With which one of the following sports i1s Fernando
Alanso associated ?
{a) Ferrari

{c¢) Snooker

(b) Billiards
(d) Tenmnis
Which one of the following is the minimum amount

paid (in rupees) to the workers under the National
Rural Employ-ment Guarantee Act?

{ay ¥ 50 per day (b) ¥ 100 per day
{c¢)y T 1,000 per month (d) ¥ 3,000 per month

Wing commander is a post related to

{a) Navy (b) Army

{c¢) Police (d) wAar force

Members of SAARE countries does not include
{a) Pakistan (b) Japan

{c) Nepal (d) India

The-magnitude of earthquake waves is measured on

{a) wave scale

{¢) Medic scale

(b) Richter’s scale
(d) full bright scale
Green Revolution relates to

{a) production through pollution free methods

(b) significant increase in agricultural productivity
through high vield seeds etc.

{¢) educating the citizens for clean and green cities
{d) high milk production

CAG is connected with

{a) union budgets

(b) state finances and irregularities

{c¢) audit and related matters

{d) checking expenditure of Government of India
Medical tourism is related to

{a) cancer patients under-taking tours and travels
(b) all patients going on a vacation

{c) atounst spot having primary health care facilities

{d) a package covering travel, stay, medical treatment
and the like
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49, d il A BY, ATRI ¥, WG ER @1 8, CAI B 56, sifeamse T S -
W RS A1 T, g D, BY H 14 I AY 5B (a) sfew o (b)y R o
T ¢ AN T B 87 (¢) wuifesr & (d) o o
() (b} -E 57. Welel ATl BT e e A S fra @a g © ?
() © O 2) BRI by fferrdw
50. ¥R IO AT H W G Akia A 93T ot o (d) . ‘
4 feu U gwel ¥ S W wHAl 27 (c) *r% (). .
= 58. gty yrior doE RS sifafiay @ sidld
TS BRI B = 7 fhaeT g9 iy (suy =)
I B ) B o <
D (a) Tsogfa feq (by T 1009fa fea
b
7N (¢) T1,000 Ul AT (d) T 3,000 UkT 1%
5 59. favT TSy ue o1 Hdy fhad 2.2
WS}@W:
(a) T (b) ¥
(c) gfers (d) @y, g
60. SAARC QT & wawdt # . wifired et 21
(a) UTfdhe (b) U
(a) (b) (©) (d) (¢) ~uTel (d) TRA
arr- B 61. AU Bl e bl URIH by wbd U HIUT STl
= 7
Rl 16e2 MRS | e KA @ 99 e ®) Redf et
51. a8 =g et & aen TRdE T 3 (c) Wfed Bl (d) el d1gC hel
(a) faem (b) I W= 62. BT ifsd &1 v fobae § ?
(c) few o (d) TsTeeAr (a) UQUYT TT TRl ¥ TeTH
52. gﬁﬁﬁﬁmﬁwwwwwwmﬁ (b) I weer S aret il e & PR Seurawmar
ST~ ) ¥ AEcaqul g
B, \ Wil e T ol o et R
4 BRAT
53. frEfafed #on % & afas S % W T ©@ 2 &) s g geame
Tﬁ@ﬁw ﬁbm%? 63. CAG®I Tdg fhay € ?
(c) =g (@) T EZ)) maj?%;@'aﬁwmam
54. WECIEH Hi U =idel I TT W THST T T ST . s
FeAleR 9§ 4 W TEE T R, A ® R S ©) R
% Tihe qeaa T B 2 (d) WIRT APR & ZRA B A6 HA
(a) T F Frz 64. Tafbear wica @1 Hdey feaw € 7
(b) <t & T H (a) X Ud Zad BT dld Hey Il
(¢) T % frhe (b) Bl ux il drel i Wl
(d) JeEe de ¥ wwen g e (©) WW@WG@TW@H?WUWW’
55. ﬁﬁmﬁﬁm@ﬁmﬁﬁﬁaﬁw%@igegme Gl
bag) e 27 (d) U, SEHI, STy SUAR 3% Yl anaaﬁ
(a) e (b) TR qrell ebol
(¢) TEa™mH (d) wIEHEY
% g W N L W, \
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66.

67.

68.

69.

70.

71.

Omne of the following is a Tiger Reserve in India
(a) Nilgiri (b) Badravati

(¢) Sariska (d) Latur

Lunar Eclipse

(1) occurs only on a full moon day.

(2) is when earth comes between Sun and Moon.
(3) is when Moon comes between Sun and Earth.
(4) occurs on a new moon day.

(5) occurs every 15 days in different parts of the
world.

(&) ()& ()
(¢) B)& )

Factoring

(b) (2) & (3)
(d) (& (5)

(a) is an easy way of raising capital from a factoring
company by small business.

(b) is selling of account receivables on a contract
basis for cash payment to a factor before it 1s
due.

(¢) 1s an arrangement for raising short term money
against prepaid expenses.

(d) 1s a method of discounting of long term balls.
Kharif crops are
(a) raised in the summer months of April to June.

(b) sown in the beginning of winter and harvested
before onset of summer

(c¢) potatoes-grams etc.

(d) sown<n summer and harvested after rain (period
May'to October).

The word sovereign in the context of *Sovereign
Republie” means

(a) no concentration of power and money.
(b) no regional disparity.

(¢) no partiality against any religion.

(d) no room for a monarch.

The speed of a car is 54 km/hour. Its speed in metres
per second 15—

(a) 15 m/s (b) 18 m/s
(c) 20 m/s (d) 24 m/s

Which of the following is known as the graveyard of
RBC?

(a) Liver
(¢) Brain

(b) Spleen
(d) Heart

E

2

73,

74.

75.

76.

N

78.

79.

80.

81,

Wi N LW N

Rheumatic heart disease is treated with help of—
{a) Aspirin
{¢) Methyl dopa

(b) Streptomycin
(d) Pemallin

In the early Vedic period, Vama system was based

on—
{a) Education (b) Birth
{¢) Occupation (d) Talent

The first Governor-General of Bengal was—
{a) Lord Clive (b) Lord Warren Hastings
{(c) Lord John Shore (d) Lord Comwallis

Which three vear period was observed as a 'Plan
holiday' in the country 7

(a) 1965-68
(¢) 1968-71

(b)y 196669
(d) 196972

Who issued firman granting' Diwani of Bengal, Bihar
and Orissa to the english ?

{a). Ahmad-Shah (b) Bahadur Shah
{c) Farrukh Siyar (d) Shah Alam IT

Which one of the following Acts introduced communal

electorate in India?

{a) Indian Councils Act, 1861

{(b) Indian Councils Act, 1892

{c¢) Indian Councils Act, 1909

(d) Government of India Act, 1935

Who founded the Fort William College at Calcutta?
{a) Lord Comwallis (b)) Lord Ellenborough
{¢) Lord Macaulay (d) Lord Wellesley

Where was the first Peasant Movement launched by

Mahatma Gandhi ?
{a) Bardoh (b) Dandi
{¢) Champaran (d) Wardha

Who of the following was a founder of the Punjab
Naujawan Bharat Sabha in 1926 ?

{a) Lala Lajpat Rai (b) Sardar Bhagat Singh
{c) Lala Hardyal (d) Sohan Singh Bakhna

Which one among the following is nearest to the
Tropic of Cancer ?

{a) Patna
{c) Rourkela

(b) Ranchi
(d) Varanasi
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65. ARd H P ez} Rud Fesfofag & & we & 72, wifes 259 U7 F1 o (ous! 958 o foar s

77
(a) Trafi (b) waTad (a) TFEAfe (b) TmmEfad
(©) ARt (d) oIy (c) Hfert = (d) Sffafem
66-W§H_$%mé 73. SR SfS el § =0l STewen aiE o
(1) ! o = b) S W
(2) I9 g1 € 99 el Rt AR A9 @ 7 ol € Ei)) - Ediwﬁr‘mm
(3) 9 B & o4 9 o1 AR gl @ 9 amar @ .
74, E T GEET AL S O
(4) ddd g i Qg w g @ o oy o o SR
(5) Ta%a & -1y 9 7 &Y 15 fas1 o giar 2 @ oS ()Fﬁ'&'f )
 mEe ) e e o e 2 e
(c) (3) 3R (4) (@ (43R (5) o : !
G s % ®9 H HART T T ?
(a) oY BRAR §RT HICRT HIAT I ol e (al 130208 N
(c) 1968-71 (d) 196972
e Ké?léngﬁﬁusﬁm@lﬂﬁ[@ﬁw 76, Fretatem § ¥ fat st w1 G, fEew @
®) : %’;WWW il S A P G R e wEe
3 TeRe?
S @l & A STedTafe Cg
@) Ea@n T g (a) ¥TEHS I (b) TR T
@) dufafy fia feeprse o 1w gl 2 QP EEIER (d. R T [
S . —— 77 g | frefafed & 9 #6-9 TR % 59 9t
(a) Stid ¥ S5 Tl & AGE H TR S arel] = e T
el (a) =T Hefwd T, 1861
(b) o e @ st ¥ 4t g e apff o s o (b) 3= FRfEA W, 1862
$1d] T wEd (¢c) sf==m =rfwa @, 1909
(c) aTme, a1 amfa (d) TEFHe #w sfisar TEE, 1935
(d) i a1 T ik auf & g (3 A W 78, FHAHW | Wi Ao wies w1 e w2
Saeey) DIc] g B (a) =€ FHafm (b)) @ TEEE
69. 'WW’%W]#WWWS@% ------ (c) =i Hatet (d) @ Feret
(a) TIHRT SR & BT BT T 79, HERAT T S WO OO S=eH Hel WA g
(b) e fagmar ==2f a7
(c) Tl e o1 verure et (a) R (b) STUst
(d) RST & Hig ©IT ol (¢) =HNA (dy =yt
70. iﬁ;ﬂéﬂﬂ%ﬁméwéﬂuﬁrm 80. Frefafad § § 1926 § T 2w SeEE e
- T W WEATH i ?
(@) 15 (b) 18 ¥ (a) @M eNTa T (b) TR W T
(¢) 20 W/ (d) 24 #/4 o) e ) “de o
7 3 4 RBC =1 PEIA ¢, frefafed § ¥ - % Y@ % frwean 22
' (a) T (b) T
(a) TR (b) T (Spleen)
(c) mfem=s (d) == (¢) TITHe (aL) I
% g W N L W, \
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82. Match List-I (Type of Rocks) with List-1I (Example) 87. Which one of the following metals occurs in nature in

and select the correct answer using the codes given free state ?
below the Lists: {a) Gold (b) Sodium
List-I (Type of Rocks) List-IT (Example) {¢) Aluminium (d) Copper
A. Igneous Rocks 1. Basalt and Granite 88. While Proclamation of Emergency is in operation, the
B. Metamorphic Rocks 2. Limestone and Sandstone Z?:l;e(i:; Lolessiabina eantbeseatendecifor arperiodmot
C. Sedimentary Rocks 3. Marble and Quartzite 5 Elarsdos i) Dhresmmihs
Codes - {c¢) Six months (d) One year
A B ¢ 89. Match List-1 (Place of Economic Importance) with
(@) 1 2 3 List-IT (State) and select the correct answer using the
b)) 1 3 2 code given below the Lists .
() 2 3 1 List-I List-IT
(d) 3 1 2 (Place of Economic (State)
83. In India, in which one of the following areas are the Importance)
tropical evergreen forests found ? Y | \Gliarat
[ Hiver kemtert Bimts B. Kaiga 2. Tharkhand
(B} The Bastem G}.lats C. Giridih 3. Karnataka
(e); The Westem Hlmalaya D Kakrapar 4. Kerala
(d) The Central Himalava & oden
84. Match List-1 (Location) with List-11 (Industry) and A i & B
select the correct answer using the code given below
the Lists: @ 2 3 A
List-I (Location) List-IT {Industry) by 1 2 & 4
A, Moradabad 1. Cotton Textile Industry ) ® - - 1
B.  Mathura 2. Iron and Steel Industry d 4 . 2 1
€. Balom 3. %.0il Refinery 90. Which one of the following pairs is correctly matched?
D. Coimbatore 4. Copper & Brass UN Organisation Headquarters
industry {a) UNESCO . Geneva
Codes : {(b) IMF . Pars
A B C D {c) ILO : Washington
(a) 4 3 2 1 {d) UNIDO : Vienna
by 4 2 3 1 91. Where is Baikonur Cosmodrome located ?
(c) 1 3 2 4 {a) Belarus (b) Kazakhstan
(dy 1 2 3 4 {c) Russia (d) Ukraine
85. Which one of the following towns is well-known for 92, Which one of the following plants yields bio-diesel
its aluminimum industry ? and bio-fuel ?
(a) Coimbatore (b) Koraput {a) Heveabraziliensis (b) Jatropha curcas
(¢) Ranchi (d) Rourkela {¢) Juniperus verginiana(d) Parthenium argentatum
86. At which one of the following towns do National 93, Which one amongst the following is nearest to the
Highways Nos. 6 and 7 cross each other? Sun ?
(a) Bhopal (b) Gwalior {a) Earth (b) Mars
(¢) Thansi (d) Nagpur (¢c) Mercury (d) Venus
[\

v WA N LWL N
v
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82. WALl (911 & W) I ALl (SEEIOT) w87, Trefeiem umget § W@ %9 W US whd § g
W FAfera w317 gf=at & <= fd s = sereer | qE W 27
I Y WEl I A (a) @t (b) =gz
Fiz:?% 11 (¢) Tefafm (d) T
( TR ) ( SqTEIT)
88, S I I ISMUN AF] &1 q AR i Ty
A ST IR 1. e ORI sy o WET o weE ST wwdr 32
B. WA AW 2. TR AR AR (a) B FEE (b) = =
C. FEEE 3 TR, 3R HEwEe
=z (¢) B: HEH (d) T T
i B o 89. AL (NfY% Hewd w1 WH) W G-I () &
5 : . 3 et gAfera Hifs oif gf=at & <= fad w52 &1
(c) 2 3 1 -1 -1
(d) 3 1 2 (3TEF wETE W W) ()
83. 9ia o frefafed &= & @ wel okl A STTEE 1. T
HeEfid =9 9T WK g? B & 2. TRETS
(a) dfe=l =e (b) & = c. frEk 3. wAle®
(c) dfe=eft femem  (d) =wed fedwem D. « FTEHIT 4. w
$4. ALl (W) H GELID (SEM) H " gafed %z
Hifsw R gt & = R T oHe wowE w A B C D
W IW Ff: ) 1 2 3 4
Te-1 (T4T) T (=) b 1 y " .
A TEER 1. I ST G © 4 5 3 .
B. Hyd 2. AR A EER TE @ 4 ] 5 .
((:. 15!?1'1:[) 3, d@ . wfvswTor  wITen 00, Freffen § ¥ Br-w gw W gk 2
D. e 4 dmn = dider sEm s w .
iy (a) UNESCO EEE
A B c b (b) IMF &Fa:r
(@) P4 3 9 1 (c) ILO EluCE]
® 4 2 3 1 (d) UNIDO T
) 1 3 ) 4 91, SR SNE-SST (HEAGH) el Ter 87
@ 1 2 3 4 (a) wETEd (b) THTHE
85. Trefafem =1 & ¥ ®FA-W TwgHIfEm sgm ® (c) ®H (d) T®A
free, < e 22 92, Frmifeafier it & & forerd A <o s A
(a) A (b) HIYE q T g 87
(c) T+ (d) TSTHE (a) 2frm Fifefem (b)) SErE FEHE
$6. TreAferfem TRl § @ fod ws o Uoig UwEnt 6 AR (c) S =RiSfem  (d) T oeiRen
7 TE-TR FOFRA E2 93, frefafed § & sFwrd ¥ = frpean 22
(a) I (b) TafeT=Rt (a) oAt (b)
ORI (d) T (c) M d) wTH
% g W, N t W, \
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94.

95.

96.

97.

98.

99,

100.

101.

102.

How 1s Shobhana Chandrakumar well known as ?

(a) Dancer (b) Environmentalist

(¢) Educationist and a member of the National
knowledge Commission

(d) Sportsperson

Which one among the following is not one of the G-4

group of countries that are aspiring for permanent

membership in the Security Council of the United

Nations?

(a) Brazl (b) Germany

(¢) Australia (d) Japan

Nokia-one of the leading cellular phone producers in

the world onginates from which one of the following

countries ?

(a) Japan (b) Sweden
(¢) United States of America
(d) Finland

In the United Nations, who decides the quantum of
contribution of each member to the income resources
of the UN?

(a) Trusteeship Council

(b) Economic and Social Council

(¢) Security Council

(d) General Assembly

The height of the World's tallest tower, the Burj Dubai'
(renamed 'Burj Khalifa") is—

(a) 740 metres (b) 828 metres

(c) 848 metres (d) 903 metres

The number of Judges in the International Court of
Justice is —

(a) 11 (b) 15
(c) 18 @ 7

Which of the inert gases can form compounds ?

(a) Helium (b) Xenon
(¢) Krypton (d) Argon
PART - C

NUMERICAL APTITUDE
54+3x16=+2

Value of 18-5x6.3 1

(a) 2 (b) 4

(¢) 6 (d) 8

The simple interest accrued on a sum of certain

principal is ¥ 1,200 in four years at the rate of 8
p.c.p.a. What would be the simple interest accrued
on thrice of that principal at the rate of 6 p.cp.ain 3
years !

(a) T 2,025
(c) T2,250

(b) ¥ 3,025
(d) T2,150

103.

104.

105.

106.

107.

108.

109.

110.

v WA N LWL N

3 2 1
12442 21
Value of 5 2 - = 4 1
18 1
5— =l
(a) 5, () 6
2 19
3— 4—
() 33 @ 4
Value of /~/3969 + /3364 1s:
(ay 169 (b) 121
(c) 141 (d) 11
What will come in place of question mark ?

{(V725x32)+ 45} x 2 = 105024

{ay 383 (b) 476
(c) 547 (d)651
The area of a4 square is 196 sq. cms. whose side is

half the radius of a circle. The circumference of the
circle is equal to breadth of a rectangle. If perimeter
of the rectangle is 712 em. What is the length of the
rectangle 7

{a) 196 cm (b) 186 cm
{c) 180 em (d) 190 cm
What will come in place of question mark ?

{(35)2 1(38)2} +?=5

(a) 503 (b) 543.6
(c¢) 567.8 (d) 5338
Value of {18.92)" - 121 is:

(a) 386.9466 (b) 346.9664
(c) 366.9646 (d) 333.6964
Value of 1000 = 10% is:

(a) 10002 (b) 10

(¢) 100? (d) 100

. 7
If sin® —cosO = 3 and 0 <0 <90°, then the value

of s1nB + cosB 1s

17 13
(@) 13 ) 7
1 1
) 3 ) 17
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97.
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99.

100.
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102.

ST FsepAn 6| &9 o SH S €7

(a) T (b) wHTERUER
(¢) Toemersh R UEE 99 SAEW W wE
(d) ferme

frfafem o @ F W TH, SO WL B OGET
ofiog, TR TEEIa % AR G-4F SO A W
= 7

(a) SIS (b) A

(¢) smefern (d) M=

fova ¥ TegeR WH S TS SCIRE HEAT AfwAT
w1 gt frefafed 3ot o ¥ ffg = o 7

(a) =HE (b) wr=d

(c) WH =T swEfiT  (d) feeis

IR T2 B SE% SF WEEEl 0 yow W %
FUEF T GE % G H A A0 e 27

(a) =TT AR
(by oTfei <R wmfs afg
(c) H¥em ufimg (d) He™H

TR ® T %9 o ‘TS g (T A e
TEATET) B HAR T

(a) 740 HreX (b) 828 T

(c) 848 Hi=X (d) 903 HEX

e E e D 1o D Rl 01 1 g e s e

(a) 11 (b) 15

(c) 18 (dy 7

HiAd fwa I A o wed 27

(a) wifemm (b) S

(c) for=m (d) s

arr - C

siferen Aaar

5.4+3%x16+2

18 +5x6+3 Wqﬂww

(a) 2 (b) 4

(c) 6 (d) 8

et $l P AN R AR 9d 7§ 8 ey d #l Qv
3 Iufad AERU & T 1,200 8| 59 A9T ©

103.

104.

105.

106.

107.

108.

109.

110.

1%+1;+1%a;[1:n=[ T B
@ 55 ) 6
(© %3 @ -
J/3969 + /3364 HT A FT T
(a) 169 (b) 121
(c) 141 @ 1

Al () & ®IF U AT SYIT?

{(V729x32)+ 45} x 7 = 10502.4

(a) 383 (5Y.476
(c) 547 (&) 651
196 @+ |1, e=hd dicd Qb a3 &1 9ol b g Bl

o foameh 81| 39 & 1RfY v s 31 e
foraer s emaa &1 alRf 712 9 g1 smaa @
darg @ar § ?

(a) 196 HI. (b) 186 HI.
(c) 180 &I, (d) 190 HI.
el () ® R IR FT AP

{(5)" (38)} = 2=5

(a) 503 (b) 543.6
(c) 567.8 (d) 533.8
(18.92Y - /121 T HE =T B

(a) 386.9466 (b) 346.9664
(c) 366.9646 (d) 333.6964
1000 + 10% T T T B

(a) 10002 (b 10

(c) 1002 (d) 100

. 7 .
s1n8—cos8:E #N 0<6<90°%)f, Al sind + cosd

=1 7 fowa gmm?

fort uv 3 9 7 6 yerud & < | Sul=d |ienw 12 13
® 13 ®) 17
<IToT 1 BT 7
(a) T 2,025 (b) ¥ 3,025 1 1
(¢) T 2250 (d) T 2,150 © 13 @ 17
% "B /A BE /A
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112.

113.

114

115.

116.

117.

118.

If tan15°=2— /3, the value of

tan 15° cot 75° + tan 75° cot 15° is
(a) 14 (b) 12
(c) 10 (d) 8

15
If 0 be acute angle and €0s0=—, then the value of

17
cot (90° — 9) is

2+/8 8
(a) % ) 7=

2 el
(c) 17 (d) 17

If 8 be acute and tan 8 + cot 8 = 2, then the value of
tan’d + cot'? 8 is

(a) 1 (b) 2

(c) 3 (d) 4

If tan (20 + 45°) = cot 36 where (20 + 45°) and 390
are acute angles, then the value of 6 is

(a) 5° (b) 9°

(c) 12° (d) 15°

A man is four times as old as his son“Twenty years

later he will be just twice as old.-as his son. Find their
present ages.

(a) 40-10 vears (b). 30-10 vears
(c) B0O-20 years (d) 30-20 vears
In a video library 1/4 videos are of movies, 2/3 of the

remaining are of songs and the remaining 200 are
religious. How many of them are video songs ?

(a) 400 (b) 600
(c) 8OO (d) 1200
A class of 60 has 25% girls. If 20% of boys and 20%

of girls attended a picnic, what % children of that
class attended the picnic 7

(a) 20 (b) 22.5
(c) 25 (d) 40
Two cars travel in the same direction at 40 km/hour

and 50 km/hour respectively. How many hours after
these are alongside, will they be 18 km apart ?

(a) 0.25 hour (b) 2.5 hour
(¢) 0.4 hour (d) 1.8 hour

119.

120.

121.

122

128,

124.

125.

126.

v WA N LWL N

An aeroplane travels distance of 2500 km, 1200 km
and 500 km at the rate of 500 km/hour, 400 km/hour
and 250 km/hour respectively. Find the average speed.

{a) 420 km/hour (b) 450 km/hour
{c¢) 480 km/hour (d) 400 km/hour

A number, the sum of whose fourth and fifth parts
exceeds their third part by 28 is—

(a) 120 (b) 240
(¢) 220 (d) 160

Area of a rectangular plot it 2400 square metres and
its sides are in the ratio of 3 : 2. Its perimeter 15—

{a) 60 m (b) 40 m
{c) 100 m (d) 200.m
A and B completes separatelv.a piece of work in 10

and 15 days, respectively. A worked for 4 days alone
and B for 5 days alone., Then C completed the rest
portion of work alone in'8 days. How long will all the
three. take togetherto complete that work 7

(a) 4 days (b) 5 days
{¢) 6 days (d) None of these
Ratio of the present age of A and that of B is 4 : 5 and

after 5 years it will be 5 : 6. Then what 1s present age
of A7

(a) 10 yrs (b) 20 yrs

(c) 25 vrs (d) 40 yrs
The factors of 8x2 — 18x + 9 —

(@) (4x-3)(2x+3) () (8x-1)(x-9)

(e] [3x-8)(x-3) (d) (2x-3)(4x-3)

A contractor employs a labourer at T 75 per day as
remuneration, alongwith the condition that if he is
absent, he will be fined ¥ 15 per day and will not get
the remuneration of absent day/days. After 20 days
the contractor paid ¥ 1140 to the labourer, for how
many days had been the labourer absent from his work?

(a) 3 (b) 5
(c) 4 (d) 2
At 3 : 00 am the temperature was 13 degrees below

zero. By noon it has risen to 32 degrees. What was
the average hourly increase in temperature, in degrees?

(&) (19/9) (b) 5
(c) (19/6) (d) 7.5
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113,
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117.

118.

A @nise=2-+3 T, @

tan 15° cot 75° + tan 75° cot 15° =h1 HME =T ﬁTIT?
{a) 14 (b) 12
{c) 10 (d) 8

A o= F E SR cos0 2 A

cot (90° — 0) =T HH &

248 8
(a) % ®) 13

V2 82
() 17 @ =7

A 0= HT B AW tan O + cot O =2 &, Al
tan®0 + cot'? 6 =1 TE o zm?

(a) 1 (b) 2

(c) 3 (d) 4

A% tan (20 + 45°) = cot 30, STET (20 + 45°) HAX 30
= BT, d 0 °H ©

(a) 5° (b) 9°

(c) 12° (d) 15°

T R & G AW A W AN A S S e
TUHT R AT T2 W B AT S IR SAAHA
A TR,

(a) 40-10 39 (b) 3010 =6

(c) 80-20 d (d) 3020 =9

T FfSA AR 5 1/4 9 =A== I, T H 2/3
AT Tl T TE WW 200 HHE @ifeds €. Wm
Hifs f6 390 o Tal % difsas feat T2

(a) 400 (b) 600

(c) 800 (d) 1200

60 T=A 1 T HEM H, 25% ASHAT 8. T ¥ 20%
qGH T 20% AS[HAT TR T T, TG HITL
f& 59 a1 % T wfowm == fisf w ™7
(a) 20 (b) 225

(c) 25 (d) 40

40 ferdi/siar us 50 fdi/Har #1 = 9 HE s F0
s g feen F vfgmm € - e b fefa
W fopa = % wvER A wE TH-gW 9 18 el =
T Y
(a) 0.25 %2
(c) 0.4 %2

(b) 2.5 %
(d) 1.8 =2

3

119.

120.

121.

122:

123,

124.

125.

126,

 W. N LW, N

T TR e 2500 T, 1200 T e 500 foet
w1 g wEe: 500 fwdismar, 400 s o
250 Terei/=mer # T 9 T w1 6. TAR V@S i
s Tt fet gmit?

(a) 420 Tewt/=m=T (b) 450 fewi/=m=
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(a) 10 = (b) 20 =H
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(¢) (8x-3}(x-3)
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(d) (2x-3)(4x-3)
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(c) (19/6)
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127

128,

129,

130.

131.

1.32:

133.

134,

. A person went to the market and purchased a pen for

2
T 15. If he 1s still left with gﬂ‘l of his total money,

find the total amount of money he had initially—
(a) T 40 (by ¥ 37.50
(c) ¥ 55 (d) None of these

Find the distance covered by a man walking for 12
min. at a speed of 3.5 km/h—

(a) 0.7 km (b) 7 km
(¢) 1.7 km (d) 7.7 km

Find the greatest number of 5 digits which is exactly
divisible by 463~

(a) 99082 (b) 99545
(c) 99568 (d) 99999
. . %
What percentage is equivalent to B i
(a) 15% (b) 85%
(c) 65% (d) 60%

During one year the population of a locality increased
by 5% but during the next vear it decreased by 5%. If
the total population at the end of the second year was
7,980, find the population at the beginning of thefirst

year—
(a) 7890 (b) 8900
(c) 9800 (d) 8000

What quantity of water should be added to reduce 9
litres of 50% acidie liquid to 30% acidic liquid ?

(a) 4.5 litres (b) 3 litres
(c) 6 litres (d) 7.5 litres
Find the value of the missing figure in the question

given below —

6:7::5:35
(a) 30 (b) 36
(c) 42 (d) 48

What should come in place of the question marks (7)
in the following expression ?

L35,

136.

137.

138.

What minimum amount should be added to ¥ 149250
so that the sum can be distributed equally among 4744
people ?

(a) T 2448 (b) ¥ 2558
{c) ¥ 2568 (d) None of these
Foodgrains for 220 soldiers have been stored in a fort.

Foodgrains will be consumed in 16 weeks, if each
soldier is given 45 gm per day. The same foodgrains
will last for 24 weeks if each soldier is given 33 gms
per day and some soldiers are removed. How many
soldiers should be removed ?

(a) 44 (b) 160
(c) 20 (d) 52

1 1
A man spends grd of hisancome on food, Zth of

1
the rest on house rent and gth of the rest on clothes.

He still has'? 1,760°1eft with him. Find his income.

{ay I 8800 (b) ¥ 6160
{c) 34400 (d) ¥ 2640
Find the value of —

852.2019 + 106.78 — 59.157

{a) 899.8249 (b) 899.8429

{c) 899.2849 (d) 898.8249

Directions (139-143) : Study the following table

carefully to answer the questions that follow.

Number of Soldiers (in thousands) retired during
six different vears

ACADEMICS
Years Air force Army Navy Coast-Guard BSF
2004 2.5 5.2 1.6 0.6 4.2
2005 3.7 6.1 1.9 1.8 5.1
2006 2.9 6.9 2.4 1.2 3.7
2007 5.4 A 2.8 2.9 5.2
2008 4.2 6.4 1.5 5.4 4.4
2009 5.6 8.4 3.5 36 6.3
139. What is the difference between the total number of

Soldiers retired from Airforce in the year 2006, 2007

2—98 = % and 2008 and the number of Soldiers retired from
Army in the year 2009 ?
(a) 70 (b) 56 (a) 4,700 (b) 4,100
(c) 48 (d) o4 (c) 3,600 (d) 36,000
% "W /A NE /A
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127.

128.

129.

130.

131.

T S AN T 3 SHR 15 %, T U U Bl

2 .
= unr 99 @ 9 |

THH AR IUE wmel oA @ :

IEF A% Twaw g7 en?

(a) 4079, (b) 3750 %

(c) 55 % (d) =9 ¥ ®E T

& =Afed g 3.5 fedtema =t ofa 9 12 fee o
=l gl T wifee-

(a) 0.7 Tt (b)y 7 Tt

(¢c) 1.7 Tt (d) 7.7 Tt

5 st 1 FE W = WA A U W 463 F Ui

fawfsm 21-

(a) 99082 (b) 99545

(c) 99568 (d) 99999

% 1 wfqwd |7 fwe 272

(a) 15% (b) 85%

(c) 65% (d) 60%

Tt T 1 SeE o veel 99 5% B 9G5S,

T ST A9 5% 1 HHT gE A TR W % o
H ®e SEen 7,980, O, o 9get @ U o
Tohal SeEAT 0?

135,

136.

137.

138.

4744 TN H TNEL-SRET dlet ® fow 149250 €. H
%9 ¥ w9 fhad ¥90 SR foe # sTewgemar 27
(a) 2448 %. (b) 2558 %.

(¢) 2568 %. (d) H ¥ = T

220 Toufei & fou w Tl & o9 @ T 2.
3R iq =t 45 79 59 |, T 16 Tw 9 wE
T 3R IH A 1 wfa =it wfafed 33 oW <,
T 24 U=IE T = 9 HS (oI %9 8 =, @
IE feru fopamt famteat =1 fepern emm?

(a) 44 (b) 160

(c) 20 (d) 52

wmaﬁmw%m,ﬁmm@ém

%.WW%WWE@WWW@HW%

O HUST W THE AR THE T 1760 T I B/d
%, Ul A T ofi?

(a) ¥ 8800 (b) Z 6160
(c) % 4400 (d) 7 2640
Ted WG wifu-

852.2019 + 106.78 — 59.157
(a) 899.8249 (b) 899.8429
(c) 899.2849 (d) 898.8249

e (139-143) : Fr=ferRad |rvfl @1 ea= 4 seaE

wY 1 fau ¢ gl @ 99x e |

o) 7850 Ll 8 - aof @ gl dar g St
(c) 9800 (d) 8000 2% e T 5
132..50% 37A® 9 ofer 58 o foam ot faemn s P
fehs Seiler T 30% T S af  qrgEREdr 64T dive 1 BSE
(a) 45z (b) 3 rex 2004 2.5 5.2 1.6 0.6 4.2
(c) 67T @) 75 eex 2005 3.7 6.1 1.9 1.8 5.1
133.6:2::5:35 " o[ TR @ WAL, Al B 6.9 24 1.2 3.7
i ) 36 2007 5.4 7.2 2.8 55 5.2
2008 4.2 6.4 1.5 5.4 4.4
(c) 42 (dy 48
o , 2009 5.6 8.4 3.5 3.6 6.3
. W ) T L S 139. @9 2006, 2007 3 2008 H AR HAT A HaTTge
2 9 HITpl Bl del Hwdl @iy ad 2009 7 eddT |
712 AT At @ @ @ T e s § 7
(@) 70 ) 56 (a) 4,700 (b) 4,100
) 48 - (¢) 3,600 (d) 36,000
% "B /A BE /A
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140.

141.

142.

143.

144,

145.

Total number of Soldiers retired from BSF in the years
2005 and 2006 together was approximately what
percent of the total number of Soldiers retired from
Navy over all the years together ?

(a) 70 (b) 54

(c) 64 (d) 75

What was the average number of Soldiers retired
together in the year 2007 ?

(a) 4,660 (b) 46,600

(c) 23,300 (d) 2,330

In which force the number of the soldiers retired
continuously increased from the year 2004 to 2009 ?
(a) Air force (b) Army & BSF only

(¢) Coast Guard (d) None of these

What was the respective ratio between the number of
soldiers retired from Army in the year 2004 and
number of soldiers retired from Coast guard in the
year 2006 7

(a) 13:4 (b) 13:6

(e) 3:26 (d) 13:3

From four corners of a square sheet of side 4 cm,
four pieces, each in the shape of arc of a circle with
radius 2 cm, are cut out. The area of the remaining
portion 1s :

(a) (8 —m)sq cm
(¢) (16 — 8m) sq. cm

(b) (16 —4m) sq. cm
(d) (4—2m)sq. cm
ABCD 1s a cyclic parallelogram. The angle ZB is

equal to :
(a) 30° (b) 60°
(c) 45° (d) 90°

146.

147.

148.

149.

150.

v WA N LWL N

A straight line parallel to the base BC of the triangle
ABC intersects AB and AC at the points D and E
respectively. If the area of the AABE be 36 sq. cm,
then the area of the AACD is

{a) 18 sq. cm (b) 36 sq. em

{c) 18 cm (d) 36 cm

The point D and E ae taken on the sides AB and AC of

AABC such that AD = %AB AE = % AC. Ifthe length
of BC 1s 15 cm, then the length of DE is

(a) 10 cm (b) 8 cm

{(c) 6 cm (d) 5 cm

A car covers a distance of 540 km 10 9 hours. Speed
of a train 1s double the speed of the car. Two-third

the speed of the train is equal to the speed of a bike.
How much distance will the bike cover in 5 hours ?

{ay 450 km (b) 360 km
{c) 400 km (d) 500 km
Theratio between the angles of a quadrilateral is

3 .4 :6: 5 Two-third the largest angle of the
quadrilateral is equal to the smaller angle of a
parallelogram. What is the value of adjacent angle of
the parallelogram ?

(ay 120° (b) 110°
(c) 100° (d) 130°
What profit/loss percent did Ravi earn if he purchased

an item of ¥ 5,600/- and sold it at three-fourth of its
cost price ?

{a) Loss of 20 percent

(b) Gain of 25 percent

{c¢) Neither gain nor loss

{d) Loss of 15 percent
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140.

141.

142.

143.

144,

145.

ayf 2005 3k 9 2006 1 frdrey BSF 4 Harfyad
B ard S B B wEn Wi auf § fday
AT ¥ AT 84 aTel Al B aed W7 B
AT e ufder © 7

(@) 70 (b) 54

(c) 64 d) 75

ad 2007 & SRM Harga AfFwl &1 i aE
a7 off?

() 4.660 (b) 46,600

(c) 23,300 (d) 2,330

fore &= # a9 2004 ¥ 2009 T WA i+ aTet
Al @1 T 7 wad qf g8 § ?

(a) arg

(b) @dd efd |1 3R BSF

(o) BI¥c S () T 4 i el

Tt 2004 H TR I AT B4 dTed UlwbT 3R

atf 2006 H BIeC TS HAIFGd gl dard il
CAREEE e 7 B s e S e e e

{a) 13:4 (b) 13:6

{(c) 3:26 (d) 13:3

499 YT A UEH A % AW S W 2 o fa
A FW ® AT B TAHR H AN THS BIERL ST
o Tou T ¥ TRAEN 3T ST BT G (a2 7
(a) (8—m) & TH  (b) (16 —4m) =W @
(c) (16 —8n) @ T (d) (4= 2n)-=rt TH)
ABCD U# =& HHMiR =gds T daen sud
/B fous ag=y 7m?
(a) 30°

(o) 45°

(b) 60°
(d) 90°
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146,

147.

148,

149,

150.

 W. N LW, N
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PART-D
ENLGLISH COMPREHENSION

Directions: In questions no. 151 to 153, some of the

sentences have errors and some are correct. Find out
which part of a sentence has an error and blacken
the rectangle corresponding to the appropriate letter
(4, B, C). If a sentence is free from errors, blacken
the rectangle corresponding to (d) in the Answer
Sheet.

151.(a)

(b) if I can lend him my Parker pen

My friend asked me

(¢) for a few days.
(d) No error.

152.(a) The school is
(b) within hundred yards
(¢) from the church.
(d) No error.

153.(a)
(b) when they were in the lonely place
(c) to divide their booty.
(d) No error.

154.(a)
(b) fatter because he

The police broke upon the robbers

Jayesh is getting

(¢) does not take exercise at all
(d) No error.

155.(a) I am thinking of
(b) to go to Agra
(¢) for my coeusin's.marriage.

(d) No error.

Directions: In gquestions no. 136 to 160, sentences are
given with blanks to the filled in with an appropriate
word. Four alternatives are suggested for each
gquestion. Choose the correct alternative out of the
four and indicate it by blackening the appropriate

rectangle in the Answer Sheet.
156. The window of our room __ he rear.
(a) overlooks (b) opens
(c) opposes (d) adjoins
157. Their  to scale the mountain peak was an absolute
failure.
(b) desire

(d) proposal

E

(a) attempt
(¢) anxiety

Wi N LW N

158. between labour and management is inevitable in

any industrial society.

{a) co-ordination (b) competition

{c) friction (d) association

159 Macbeth 1s a tragedy of a man who was  with
great qualities.
{a) empowered
{c) obsessed

160. Changes in the socio-economic environment have gen-
erated a sense of crisis among the people.
(a) deliberate (b) fearful
{¢) damaging (d) profound

Directions: In questions no. 161 to 165, out of the four
alternatives, choose the one which best expresses the
meaning of the given word and mark it in the Answer
Sheet.

161. REVOKE

(b) endowed
(d) possessed

{a) repudiate (b) repeal

{c) impute (d) force
162. REPRISAL

{a)..denial (b) reluctance

{c) unequivocal (d) retaliation
163. FASTIDIOUS

{a) faint (b) dainty

{c) delicious (d) dormant
164 ATTRIBUTE

(a) Infer (b) impute

{c¢) inhere (d) inundate
165 . DIALECTIC

{a) argumentative (b) instructive

{c) constructive (d) destructive
Directions: In question no. 166 to 170, out of the four

alternatives, choose the word opposite in meaning

to the given word and mark it in the Answer Sheet.
166. DICTATORSHIP

{a) democracy (b) tyranny

{c) aristocracy (d) self-rule

167 EVENTUALLY

{a) primarily (b) resultantly

{c) initially (d) objectively
168. PHENOMENAL

{a) ordinary (b) experiential

{c) natural (d) spiritual
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169 NONCHALANT
{a) fearful
{c) patriotic

170. ABOMINATE
{a) love (b) loathe
{c) abhor (d) despise

Directions: In questions no. 171 to 173, four alterna-
tives are given for the meaning of the given Idiom’
phrase. Choose the alternative which best expresses

the meaning of the Indian/Phrase and mark in the
Answer Sheet.

171.To smell a rat

(b) cowardly
(d) excited

{a) Signs of plague epidemic(b) Bad smell
{c¢) Suspect foul dealings
{(d) To be in a bad mood
172. 70 bhe above board
{a) To have a good height
{(b) To be honest in any deal
{¢) To have no debts
{d) To be able to swim
173.To havex the gift of the gab
{a) A talent for speaking
(b) To do exactly the right thing
{c) To be cheerful
{d) To get lots of gifts
174.To fall flat
{a) Retreat
{(b) To meet accidentally
(c) Quarrel
{d) To be met with-a cold reception
175.Right-hand man
{a) An honest person
{(b) Most efficient assistant
{¢) One who cannot use his left hand
{d) A foolish person

Directions: In questions no. 176 to 180, a sentence or
underlined part thereof is given which may need
improvement. Alternatives are given at (a), (b) and
(c) below, which may be a better option. In case no
improvement is needed, your answer is (d). Darken
the appropriate rectangle in the Answer Sheet.

176. The old man felled some trees in the garden with hardly
no effort at all.

{a) hard effort
(b) hardly any effort
{¢) a hardly any effort

{d) No improvement

3

 W. N LW, N

177. The company goes to great length to ensure that

employees can be comfortable in their work

environment.

(a) are comfortable

(b) will be comfortable
(¢) should be comfortable
(d) No improvement

178.1 want vou to clearly understand that excuses won't
do.

(a) vou clearly to understand
(b) you to understand clearly
(¢) to clearly understand you
(d) No improvement

179. The reason why he wrote the letter was because he

could not contact him over the phone.

(a) why he wrote the letter was since
(b) “for which he wrote the letter because
(¢) why he wrote the letter was that

(d} No improvement

180. While we would like that all Indian Children to go to

school, we need to ponder why they do not.
(a) that all the Indian children

(b) if all the children of India

(¢) all Indian children

(d) No improvement

Directions: In questions no. 181 to 185, out of four
alternatives, choose the one which can be substituted,
for the given words/sentence and indicate it by
blackening the appropriate rectangle in the Answer

Sheet.

181. Mercy-killing of patients who are incurably 1ll
(a) circumspection (b) benignity

(¢) euthanasia {d) apoplexy

182. General act of forgiveness on a national occasion
(a) benediction {(b) emancipation

(¢) 1nvestiture {d) amnesty

183. Passing off someone else’s writing as one’s own
(a) copying {b) patenting

(¢) plagiarism {d) adaptation
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184. A lake of sea water
(a) archipelago (b) lagoon

(c) gorge (d) inundation

185.The science of making watches

(a) graphology (b) morphology

(¢) aneroid (d) horology

Directions: In question no. 186 to 190, groups of four
words are given. In each group, one word is correctly
spelt. Find the correctly spelt word and mark your

answer in the Answer Sheet.

186.(a) Occured (b) Occurad
(¢) Ocurred (d) Occurred
187.(a) Swelte (b) Filpant
(¢) Licentious (d) Puessile
188.(a) Grief (b) Breif
(¢) Recieve (d) Diceive
189.(a) Furnituer (b) Exampel
(¢) Medicine (d) Sampal
190.(a) Exaggerate (b) Exeggrate

(¢) Exagerate (d) Exadgerate

Directions: In the following passage (question no. 191
to 200), some of the words have been left out. First
read the passage over and try to understand what is
about. Then fill in the blanks with the help of the
alternatives given. Mark your answer in the Answer
Sheet.

PASSAGE(Q. Nos.191-200)

The North-East India is Asia in miniature, a place
..(191}... the brown and yellow races ...(192)... and
mingle. There are at least 262 ...(193)... ethnic groups
and the region is home to more than 150 million people,
if one includes Bangladesh. Take ...(194)... example

v WA N LWL N

the state of Manipur, which ...(195)... Burma, with a
population of 1.8 million people. It 1s home to about 30
separate linguistic and ethnic groups including the
Taraos, ...(196)... number less than 400 individuals
..{(197)... the ages and the mountains, the people of
this winding trail ...(198)... an anthropological and
sociological ...(199)... to South East Asia, where the
roots of many ...(200)...

191.{a) when (b) although
{c) where (d) to
192.(a) meet (b) desert
{c) form (d) find
193.(a) identical (b) closed
{c) cormresponding
{d) homogeneous
194.(a) from (b) for
{c) again (d) besides
195.{a)- holds (b) stretches
{c) rules (d) borders
196.{a) who (b) though
{c) amidst (d) hence
197.(a) Bringing (b) Demanding

{c) Beginning
(d) Allowing

198.(a) construct (b) form
{c) broke (d) settled
199.(a) problem (b) anathema

{c) bridge (d) window
200.{a) opportunities B sadly
{c) since (d) disease




